1,3-

1,2-

1,2-

1,2-
39

(2004)

1,3-




1,3-

39

(2004)

1,2-

1,3-

18



1990

ALDH2
Woutersen (1986) Feron (1982)
ALDH
in vitro
in vivo in vitro
ALDHZ



NOEL 120mg/kg 4 13
150ppm  270mg/m? ECHC 1999
(2002)
1986
48ag/m

USEPA (1991) Appelman  (1986)
NOAEL (HEC)8.7mg/m®

pg/m?
ECHC(1999) Appelman  (1986)
BMCL s
390pig/m?
Appelman(1986)

4 11
NOEL

LOAEL  750ppm

NOEL 270mg/m?

Appelman

NOAEL150ppm
RfC



Appelman  (1986)
150ppm(270mg/m®)  NOAEL

(5600) 48ag/m

48ag/m






Yamamoto  (2002)

Jorgenson 1985

USEPA(2001)

WHO 2004

1976 Roe 1979

DNA

USEPA 2001

NCI
Nagano 1998

NCI 1976

WHO 2004 USEPA 2001

WHO 2000
4.2>=<10



"/ (pag/m’)

CalEPA 2005

5.3%<10 */(pg/m®) 2

Larson  1994a, b 1996 Templin  1996a
1998 Kasai 2002 Yamamoto 2002
WHO 2004
TC 140 ug/m® CalEPA 2000
LOAEL Chronic
Referenced Exposure Level 300pig/m?
NOAEL 14.7 mg/m?
Yamamoto 2002 BDF,
25mg/m* 6 / 5
/ 2 LOAEL LI Templin 1998
BDF, 25 mg/m* 6 / 5 / 13 NOAEL
Yamamoto 2002



Yamamoto 2002
5 ppm 25 mg/m*  NOAEL

1,400 18pag/m?

Yamamoto 2002
5ppm 25mg/m*  LOAEL LOAEL
1,400

18pag/m?

18pag/m?
18pag/m?



10



1,2-

1,2-
1,2-
Benson Teta(1993) 1,2-
(SMR)
Nagano (1998) 1,2-
1,2-
1,2-
1,2-
1,2- in vitro
in vivo DNA
1,2- in vivo in vitro

NC1(1978)

11



Nagano (1998)

Nagano
NOAEL
NOAEL
10ppm(40mg/m*) 100ppm(400mg/m*) WHO
30
1980 CalEPA  U.S.DHHS
CalEPA Spreafico 50ppm
NOAEL  1Oppm
Cheever  (1990)
U.S.DHHS
1,2-

Nagano (1998)

12



Cheever (1990)

1,2-
Nagano (1998)
(1991)
BMC 6.1><10°/
pg/m 1,2- 10°°
1.6pag/m?
1,2-

Cheever  (1990)

50ppm(200mg/m®)  NOAEL
(480)
420pag/m?

1.6pag/m*  420pag/m?
1,2-
1.6pag/m?

13



14



1,3-

1,3-

100 ppm
RR

Melnick 1990

1,3-

1,3-

1,3-

1,3-

1,3-

Delzell 2001

1,3-

1,3-

1,3-

Down

SMR

SBR

1987

National Toxicology Program (NTP 1984,1993)

1,3-

In vitro

15

in vivo

1,3-

1990



ECHC 1999 Delzell SBR

RR
TCyy 1.7mg/m?
WHO 2001
USEPA(2002) ECHC(1999)
LEC,, 1
95% 0.56mg/m? 0.08/ppm
2004 Delzell SBR
0.0088/ppm
Wilson 1944 1,3-
Himmelstein 1997 1,3-

Melnick 1990
65 MCV

NTP 1993

Delzell SBR

2004

16



1,3-

2004
10 °

2.5pg/m?

/ 0.0038/ppm-year 1|Jg/m3\
0.15

ppm year 0.007

= 0.007>(1 0.0038>0.15 1) / 1 = 0.40><10 °/ (jag/m’)
\_ 10 ° =10 ° (0.40%<10 °) = 2.5pg/m J

1,3-

1,3- 2.5pg/m?

17
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